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Ei@ Meg |8 |BOD|(COD| pH | DO | SS kﬁg%ﬁ% BER| 2% | 2 Z%éfi %j%%ﬁ i;‘?:;%% z%;ﬁz
mesil [ mmilcos | 1| 7.2 | 86 | <1 |49803| 0.21 |o0.014]<0.001]<0.01] 0.003] - [<o0.01

Er M ey | 2mlo.s | 10| 7.7 | 12 | <1 |3.3802] 0.31 [0.011]<0.001| 0.01]0.007] - | 0.01
75 g gglcos | ouai | s 0 [ <1 Loepos] 026 [o.o1s]co.001] 0.01]0.005] - | o001

Bt | sl | mmlcos | 11| 8.0 | 86 | <1 |3.3804| 0.42 [0.029 (< 0.001 < 0.01] 0.005] - [<o0.01
5|~ s | amlco.s | 1o | 7.9 | 11 | <1 |7.9803] 0.48 [0.033] 0.001[<o0.01] 0.007] - [<o.01
— /i 7 owlcos | 11| 8.0 ] 9.8 <1 |20804] 0.45 [0.031] 0.001[<0.01] 0.006] - [<o0.01
sE | mmlcos | 1o | 7.6 | 8.9 | <1 |[3.3E04] 0.31 | 0.068]<0.001 [<0.01|0.031] - [<0.01

R wmrs | cmlcos | 0.9 | 7.5 [ 10 [ <1 |7.9802] 0.44 [0.030[< 0.001]<0.01] 0.026] - [<o0.01
7 olcos | 1o | 7.6 9.5 | <1 |17804] 0.38 [0.049]<0.001[<0.01] 0.029] - [<o.01

mE | mmlcos | 12| 8.2 | 88 <1 |2304| 0.68 |0.023]<0.001]| 0.01] 0.007| - [<o0.01

RIE | s | 2 |co.5 | 1.2 | 7.5 | 11 [ <1 |3.5804] 0.72 [0.029 < 0.001 < 0.01] 0.025| - [<o0.01
v olcos | 12| 7.9 ] 9.9 <1 |2.9804] 0.70 [ 0.026]<0.001] 0.01] 0.016] - [<o0.01

- wiEhl | mmlcos | 0.9 | 84| 89 | <1 |[33604] 0.13 |0.021]<0.001| 0.01|0.015] - [<0.01
g | w205 | 11 | 78 | 11 [ <1 [4.9802] 0.25 | 0.016]< 0.001[<0.01] 0.012] - | 0.03
7 olcos | 1o | 8.1 ] 10 <1 |17E04] 0.19 |0.019]<0.001| 0.01] 0.014] - | 0.03

o | B | Emmlcos | e | 87 | 8.7 [ <1 |3.3803] 0.14 |0.009 |<0.001 [<0.01 | 0.002| 4.6 |<0.01
tt%;g; JELRHE | zglco.5 | 1.3 | 7.5 [ 12 [ <1 |2.3E02] 0.38 | 0.009 [< 0.001[<0.01] 0.006] 4.2 [<0.01
7 olcos | 1.5 | 8.1 | 10 | <1 |1.8803] 0.26 | 0.009]<0.001[<0.01] 0.004] 4.4 [<o0.01

B B [ mmlcos | 2| 7.0 | 85 <1 |7.9803] 0.14 |0.019| 0.001|<0.01] 0.009] 5.3 |<0.01
%ﬁﬁ form | cmlcos | 12| 76| 12 | <1 [2.3802] 0.36 | 0.009 |< 0.001[<0.01] 0.005] 4.4 | 0.03
WO lcos | o | 78| 10 [ <1 [a1p03] 0.25 [0.014] 0.001]c 0.01] 0.007] 4.9 | 0.03

| PN g lco.s | 1.3 | 7.4 | 8.5 | <1 |4.9E04] 0.34 [0.027| 0.002]<0.01 0.013] 6.0 |<o0.01
fgéu PEEE | s fco.5 | 1.2 | 7.4 | 11 [ <1 [1.1E03| 0.41 |0.032] 0.001]<0.01] 0.028] 6.5 [<o0.01
v #lco.5 | 1.3 | 7.4 | 9.8 | <1 |2.5804] 0.38 [0.030] 0.002|<0.01] 0.021] 6.3 [<0.01

| WA | mm)cos | 2.3 | 7o | 7.8 | 1 |7.9E03] 0.30 |0.026 < 0.001|<0.01 0.018] 6.6 |<o0.01
é;% At | agmfcos | 1.5 | 77 | 11 | <1 |3.3602] 0.36 | 0.012]< 0.001 [<0.01 ] 0.009] 4.9 [<0.01
v o5 | 1.9 | 7.8 | 9.4 | 1 |4 1r03] 0.33 [0.019]<0.001|<0.01] 0.014] 5.8 [<0.01

| MBI mmgl<os | 14| 7.9 | 8.3 | <1 |2.3E04| 0.18 | 0.10 |<0.001 |<0.01 | 0.016] 4.7 |<o0.01
Z.la;; rrm | 2mlcos | 19 | 77 | 12 | <1 |4.9802] 0.21 [0.016]< 0.001 [<0.01 0.009] 4.4 | 0.01
"o lewmlcos | 7| rs | 10 [ <1 |1 2r0a] 0.20 {0,058 < 0.001[<0.01] 0.013] 4.6 | 0.0

BAL :mg /L (p HROKIGEREE 2R, 7238, KRIGEBELKIIMPN/100ml TH VW E021F100258 %, E03(X100D3F AR, )
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